where $r = (x, y) \in \mathbb{R}^2$ and the last equation was derived by making use of Eq. (15). Assuming $\hat{a}_{m,n,0} = \hat{a}_{m,n,K_{\text{stk}}+1} = 0$, $m = 1, \dots, K_{\text{row}}$, $n = 1, \dots, K_{\text{col}}$, it is straightforward to verify that

$$T2 = \sum_{p=1}^{K_{\text{stk}}+1} (\hat{a}_{m,n,p} - \hat{a}_{m,n,p-1}) \beta^{d-1} \left(\frac{z_0}{\Delta z_0} - p + \frac{1}{2}\right).$$
(24)

By substituting the above expression into Eq. (23), for $k = 1, ..., K_{pix}$, we have

$$G_{\theta}(k) = \frac{N}{M^2} \sum_{m=1}^{K_{\text{row}}} \sum_{p=1}^{K_{\text{col}}} \sum_{p=1}^{K_{\text{stk}}+1} \frac{\tilde{a}_{m,n,p}^{z_0} - \tilde{a}_{m,n,p-1}^{z_0}}{\Delta z_0} \beta^{d-1} \left(\frac{z_0}{\Delta z_0} - p + \frac{1}{2}\right) \\ \times \int_{C_k} \beta^d \left(\frac{\frac{x}{M} - x_0}{\Delta x_0} - n\right) \beta^d \left(\frac{\frac{y}{M} - y_0}{\Delta y_0} - m\right) dr,$$
(25)

where $r = (x, y) \in \mathbb{R}^2$, $\tilde{a}_{m,n,0}^{z_0} = \tilde{a}_{m,n,K_{\text{stk}}+1}^{z_0} = 0$, for all $m = 1, \dots, K_{\text{row}}$, and $n = 1, \dots, K_{\text{col}}$. By making use of Eq. (13), the second term on the right-hand side of Eq. (22) can be simpli-

fied as follows

$$\begin{split} \frac{1}{C(z_0)} \frac{\partial C(z_0)}{\partial z_0} &= \frac{\Delta x_0 \Delta y_0}{C(z_0)} \sum_{m,n,p} \hat{a}_{m,n,p} \frac{\partial}{\partial z_0} \beta^d \left(\frac{z_0}{\Delta z_0} - p\right) \\ &= \Delta x_0 \Delta y_0 \sum_{m,n,p} \tilde{a}_{m,n,p}^{z_0} \frac{\partial}{\partial z_0} \beta^d \left(\frac{z_0}{\Delta z_0} - p\right) \\ &= \frac{\Delta x_0 \Delta y_0}{\Delta z_0} \sum_{m=1}^{K_{\text{row}}} \sum_{n=1}^{K_{\text{col}}} \sum_{p=1}^{K_{\text{stk}}} \tilde{a}_{m,n,p}^{z_0} \left(\beta^{d-1} (\frac{z_0}{\Delta z_0} - p + \frac{1}{2}) - \beta^{d-1} (\frac{z_0}{\Delta z_0} - p - \frac{1}{2})\right) \\ &= \frac{\Delta x_0 \Delta y_0}{\Delta z_0} \sum_{m=1}^{K_{\text{row}}} \sum_{n=1}^{K_{\text{col}}} \sum_{p=1}^{K_{\text{stk}} + 1} (\tilde{a}_{m,n,p}^{z_0} - \tilde{a}_{m,n,p-1}^{z_0}) \beta^{d-1} \left(\frac{z_0}{\Delta z_0} - p + \frac{1}{2}\right), \quad z_0 \in \mathbb{R}, \end{split}$$

where we have made use of Eq. (15) and assumed $\tilde{a}_{m,n,0}^{z_0} = \tilde{a}_{m,n,K_{\text{stk}}+1}^{z_0} = 0$, for all $m = 1, \ldots, K_{\text{row}}$, and $n = 1, \ldots, K_{\text{col}}$. The last identity was derived in a similar way as Eq. (24). The result follows immediately by substituting Eq. (25) and the above equation into Eq. (22).

Acknowledgments

The authors would like to thank D. Kim for collecting the experimental image sets reported in Sections 4.3 and 4.5, and J. Chao for helping with the simulation of the spherical shell reported in Section 4.4 and useful technical discussions. This work was supported in part by the National Institutes of Health (R01 GM085575).